(15)

HET-IV (%) /PART - 1v (A)

firatr e T / SCIENCE & MAW |

et Frafaraa WrT & Hyat & AT hae aut é‘ﬂ&ara—-‘fﬁﬁﬁ

Candidates should answer questions from the following part onl

SCIENCE & MATHEMATICS. - ,
ber determines
91. TEHE F=H GE Myt S € 91, Magnetic Quantum guit
(1) e = g (1) Shape f°‘b“alsb itals
(2) T H SRR (2) Orientation of orbt eital
(3) UF FIH DI GHOT Tl (3) Total energy of an 0
(4) T TR T T (4) Spin of an electron
1§
92. AT @) e % RO AT & 2 92. Scurvy is caused due to ds/ﬁf;;ﬁflyl{o
(1) feaf=-p 2) faafmx (1) Vitamin D (2) Vl 1A
(3) faafE-c ) faafmm-A (3) Vitamin C (4) Vitami
'93, T W P guA A& ? 93. Which one is weak acid ?
(1) fefewafas @ (1) Citric acid
(2) i UEe (2) Nitric acid
3) wHEREIEE (3) Sulphuric acid
(4) TGRS uae E‘éﬂ / (4) Hydrochloric acid _
94, forw SR A Sigelt B T ¥ fog 94. Which scientist was developed ‘key’
aiferer (Key) fomiaa fomam ar 2 for identification of Animals ?
1) (2) HgaaX (1) Goethe (2) Cuvier
(3) SHY (4) Framew (3) John Ray (4) Theophrastus
95. et e el N B AT AR & 95. Seedless fruits are of no use in \
(1) mﬁua L ) ZIHETI} (1) Coconut (2) Tomato
(3) HeH 4) EH (3) Banana (4) Grape
96. U F T W BT & 96. Fibres of cotto btai
(1) mﬁﬁ e a (1) The innerr;'riri? :)vall e
(2) & TegST / (2) Calyx
(3) N EE " (3) Seed coat
(4) w1 fafa @ f (4) Fruit wall
97. WW-Sic @ feg A ¥ W W 97. Silk is obt i
o Ea@E? silkworm ?amed from which stage of
(1) e (2) T (1) Egg (2)Pu' _
: pa
(3) TS 4) At (3) Adult (4 Larva
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N (16) er _ UPRI
98 fﬁ'@l WUT fergrerett 13 : | 98. Vivipary germinations are found j,
(1) Feir dref =t (1) Aquatic plants
' ophyte plants
el et (2) Xerop .
- mwﬁi (3) Mangrove plants
S@i et @ | (4) Shrubs

99, HIV mainly infects
' } (1) Cytotoxic T-lymphocytes
(2) Helper lymphocytes
(3) Killer lymphocytes
(4) Cell mediated T-lymphocytes

99. HIV TE: WA A€ ;

100. == faQH eI : 100. Down’s syndrome is caused due to
(1) zEord o ol T (1) monosomy of 21* chromosome
(2) T TR # R ~ (2) trisomy of 21% chromosome
(3') T T T SARE TR (3) an extra chromosome in male
= o (4) an extra chromosome in female
(4) Tordi & we Sfae o
101. F= A O g O & vy kg o a——cr s 101. Which one- of the following plants
;;,ﬁ Hge €2 keep its stomata open during the
) - @) 3 night and close during the day ?
(1) Water-lily (2) Cactus
() " (4 s (3) Cycas 4) Orchid
102. WePRT-EYETU H i B g wer 102. Which equation shows ‘the reaction
FRI 3900 & 2 of Photosynthesis ?
(1) CO,+H,0—-CH,0+0, () CO,+H,0->CH,0+0,
(2) 6CO, + 12H,0 — CH,,0, + 60, (2) 6CO, + 12H,0 — CH,,04 + 60,
+ 6H,0 + 6H,0 |
(3) 6CO, + 6H,0 — C¢H,,0c + 60, (3) 6CO, +6H,0 — C¢H,,04+ 60,
(4) CgH,,04+ 60, — 6CO, +6H,0 (4) CgH{,04+ 60, = 6CO, + 6H,0
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UPRI |
103. Feretor shierett % weptaor w1 ok &

(1) @ w8 4 of o Sewit

peiie e if
Q) T TR | SR R St
I G | V
T BT WG T |
(4) SRIF HiE T |
104, S T R W& 987 1 76 & 9
(1) W&OT BT (2) HTeH
() TE-=H (4) fergetmor
105. TR H e oot @ fruifid feam
ST E 2
(1) s 2) womett
(3) WAy (4) e
106. wFHia & o famm =0t wr=an &
(1) 9= (2) » AR
(3) IFRH (4) st

107. mmﬁaﬁﬁﬁw%
(1) SR AT & 3P
(2) fomg
(3) GEEel § AT
4) & e

108, f@m % @ & gRee 50 °C € |
Seer et T AT ¥ gREdH §

(1) 50K ) 323K
3) 122K @) 70K

Y
(17) & "
103. The meaning Of unification  of
teachj ills'is
eaching ski s in one

(1) To use all teaching ski
~ lesson. .
2 'l?cS)Schbose proper teaching skills
in one lesson. '
(3) To use more helpful teaching aid
in one lesson. :
~ (4) None of the above.

Which of the following is not
included in affective aspect ?

(1) Receiving (2) Organisation
(3) Valuing (4) Analysis

104.

105. The first thing which is consider in
lesson plan is '
(1) Objective

(3) Syllabus

(2) Pattern

(4) Home-work
106. The values of Science for nature is
(1) Possibility (2) Reality

(3) Interim (4) Uncertainty
107. The quality of creative students is
(1) Lack of flexibility

(2) Anxious

(3) Unaware about problem

(4) Lack of intelligence

108. The change in temperature of a body

is 50 °C. The change in temperature
on the Kelvin scale is

(I) 50K (2) 323K

(3) 122K 4) 70K

IF
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110.

111.

112,

113.

114.

, @R ]

R SRR P | g
A F | o o w1 g TR

11
6 L

1
(3) 63 @) §3m

fet g o T B T Vv T AT F
Rrae TR ¥
(1) veeT @) veeT

1
(4) Ve JT

Tﬁamaﬁa?waﬁwwtmm

Tordl &

(1) TGISAH
(3) S YA
m T & TH HU B G p ¥ |
TFH! TS FHAT et

(1) mp (2) p’m

(3) p¥m 4) p¥2m
Wiy e O fdt wierives ax & fadt
T favarat e @ W AR § sas
ST SFHHIAT &R

(1) e

1
(3) ve

(2) IG | HAH
(4) FFE A

(1) AND §R&
(3) NOT s”R&

(2) ORER%F
(4) NAND z”&

(18)

109.

110.

111.

112.

113.

114.

Three wire of resistance | OUhPmm
2 ohm and 3 ohm l'espectively are:
connected in parallel, The equivale
resistance of the circuit g -

6 11
(D 11 ohm ) "6 °hm
1
(3) 6 ohm 4) & ohm
The relation between speeq of
- (v) and absolute tempm-aml-eo(vrs)oil;:1 d
gas is :
(1) v T (2) veedT
1 1
3) vee 4) vee— =
(3) T 4) v ﬁ
Total internal reflection is possible
when light travels from

(1) airtowater (2) air to glass
(3) water to glass (4) glass to water
The momentum of particle having
mass m, is p. Its kinetic energy will be
(1) mp (2) p’m

(3) p*m 4) p¥2m

The potential difference across a
conductor of resistivity e is constant.

The heat generate in the conductor is
directly proportional to

(1) e
1

3 3
The given logic symbol represents

A o—

o

B
(1) AND gate (2) OR gate
(3) NOT gate (4) NAND gate
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UPRI
115,

116.

117.

118.

119.

2 S 7o 1 e v et et

T | 10 Hex Ywves! % urfsys 9

2 @ fm e &, favg w10 g2
N THEHH T ST &9 H H w 8
2 e 915 Uvs i afw 3 g
(1) 10\{5_11“1.1‘4‘.-11&%493%\1

(@) 1021 53 ¥ 45° R
(3) 209! @ AR

(4) 202! uimm Wt 37

et ¥ Eregteraor 3 o SR E
(1) Fe (2) Ni

3 Mo 4) Pt

fr F B9 emitam faer M
faeram & a9 qbe g 3 ¥ 2

(1) CHg (@)

2) C,H, (i)

3) C,H, (gdifesit)

4) C,H, (A1)

128 7 SO, # Hiet i e Bt

(1) 19 2) 2T

(3) 3w OWE
Fe(CO), H 3T &t e T
¥

(1) 0 @) 2

(3) 3 4) 5

120.

I W A wERAl & T B |
ifiter ST E 2 .

(1) Mg(HCO,), (2) CaCl,

(3) MgsSO, (4) CaCO;,

(19)

Y

‘ . moving on 2
115. A body of mass 2 K8 1® S nitial

smooth horizontal surfa e A
velocity 10 ms™ along AC
uniform force of 10 N towa’lfh e
is applied on the body.2 b e
velocity of the body after 28 it
(1) 10\2 ms~!at 45° North of Ea
2) 102 ms™! at 45° south of East
(3) 20 ms! towards East
(4) 20 ms~! towards West

116. The catalyst used in Hydrogenation

of oil is ;
(1) Fe (2) N1
(3) Mo . @ Pt

117. Which of the following gives white
precipitate, with amonical silver
nitrate solution ?

(1) C,H¢ (Ethane)

(2) C,H, (Ethylene)
(3) C,H, (Acetylene)
(4) C;H (Propene)
118. Number of moles in 128 gm of SO,

will be

(1) 1 mole (2) 2 mole

(3) 3 mole 4) 4 mole
119. The oxidation state of Iron in

Fe(CO)5 is '

(O o 2) 2

.3 3 4 5

120. Compound responsible for temporary
hardness of water is

(1) Mg(HCO,), (2) CaCl,
“(3) MgSO, (4) CaCoO,
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Y 3 1 %‘ (20) 1 UPR[
1 N 4HaEE . 1 15
121. | (3 ”W . Th N- 13z,
| [5(83 v 273 121 e value of s\g?, 543 »
M 5 a e, Q) 3
@3 5 ﬂ(‘” 54 122 '(1?';1)e 2 f 5t
. € OI petro] j
122, = Hd 25% Bt T aﬁ‘ﬁ'ﬁﬁ%‘ | PG Increased by 259,
E qrEd 7 98, T9 T A & Illfcl)toir:;;aﬂ;:t:;penses on petrol should
» ONe must reg
R uce travel by
(1) 25% @ 20% & 18 Vi
3) 18% @ % , o
123, (3) 18% R e 123, Thendlagonals AC and BD of
bkl % fg O W A £ oo para elogram.ABCD Intersect each
" e ZAGB & TP, other at the point O. If £DAC =32°,
ZDAC = 32 . ‘ ’ ZAOB =70°, then £DBC is equal to
- £DBCHARE ] . (1) 24°(2) 86° (3) 38° (4) 32°
(1) 24°(2) 86° (3) 38° (4) 32 124. 1t is . proposed to build a single .
124, Wgﬂﬁmﬂ% mmﬁﬁmm% circular park equal in area to the sum
e e I 16 m.SﬂT12m'6!1T~ET of areas of two circular parks of
& 3 gARPR T % S % A o SR diameters 16 m and 12 m. The radius
& | 9 Ui T eI a of the new park would be
() 10m (2) 15m (;) 10m 2) 15m
(3) 20m (4) 24m - (3) 20m (4) 24m
125. i R rem e Ig w8 @ 125. An edge of a cube measures r cm. If
Tt o1 A 921 °ha TR Vig e ST the I?rgest possfil:}llm? rig;n circular
VRN ENY cone is cut out of this cube, then the
¢ 1 % e ﬁl)% volume of the cone (in cm?) is
1) gnr @ pmc 1) %nﬁ @ -l%mi‘
1 2
@) 3w @ 3 1 2
(3) 3mr @ 3
26. 3 1350 i ST |
3 H o S R 126. If 13% is divided by 14, the
remainder is
g; " | % 123 1 13 @ 12
1 (3) 1 “4) -1
. b . — r 3 g N : 1 .
1_27 =3 +\/§,€T,ﬁ’rx3+x33;mm% 127. Ifx=3+4/8, then value of x* + 30
((;; g DeaE (1) 216 () 198
4) 261 (3) 192 - (4) 261
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128. 2+3\2x+ 4 FrETEE:

129,

130.

131.

132.

133.

134.

(D) (x+242) (x\2)

@ (+242) (x+42)

3) (x-242) (x\2)

@ (x-22) (x +42)

& TAAERS # Y
74%&?40333 I;&ﬁwﬁgg
T 102 TR
m%‘: , -
(1) 618 (2) 1224 =t ot

z(fg 2448 T [ né?: 1242 =t it
Th 99 o) Eli%ﬁ-ﬁtl] °
a‘faggsr%gg‘iﬁﬁ@r%: 188
(1) 10 2 15 (3) 20
g (-7, -2) Fry-amr @ TE
(1) 9TE 2) /51 7
(3) 75HE (4) 2398

% A9 ToF A G &6 462 T
M%laﬁmﬁagggm Qo g

AT T TH-RIETE B, A o A

BN :
(1) 639 =9 94t (2) 539 g |Ht
(3) 439 &9 qt (4) 600 =7 94t

11 9t x 4 9, T SRR I & ThE
H AgR [ VT F TF I F9E 4
[t T ST ST ¢, SoT B S 8

(1) 37.5=9dd  (2) 38.5wF 9
(3) 358 ¥ (4) 28.5TFuH
Wt x + 2y -3=03R2x+4y +11=0
a&"ﬂT‘F:

(1) THTW P HeAE |
(2) THEE YU |
(3) THEW & Wi ¥ |
4) THTW H AT |

(4) 30

@1

128.

129.

130.

131.

132.

133.

134.

Factors of X+ 3\& x +4are
(1) (x+242) (x 2)

@ (x+2N2) G+ \2)

3) (x- 2\2) (x +2)

@ (x-22) (x+V2)

j i of a
Two  adjacent _ sides
parallelogram are 74 cm and 40 tﬁg‘;
If one of its diagonals is 102 cm,

area of the parallelogram is
(1) 618sq.cm ) 1224 sq.cm

(3) 2448sq.cm  (4) 1242 sq. cm
If)each exterior angle of a regular
polygon is 18°, then the number of

sides of the polygon is

(1) 10 2) 15 (3) 20 (4 30
The distance of the point (-7, -2)
from y-axis is

(1) 9 unit (2) /51 unit
(3) 7 unit (4) 2 unit

A solid cylinder has total surface
area of 462 sq.cm. If its curved
surface area is one-third of its total
surface area, then the volume of the
cylinder will be

(1) 639 cm3 (2) 539 cm?

(3) 439 cm? (4) 600 cm3

A rectangular piece of paper
11 cm x 4 cm is folded without
overlapping to make a cylinder of
height 4 cm, then the volume of the
cylinder will be

(1) 37.5cm? (2) 38.5cm3
(3) 358 cm? (4) 285cm?
The graphs of lines x + 2y -3 =0 &
2x+4y+11=0

(1) intersect at each other

(2) coincide with each other

(3) are parallel to one another

(4) are perpendicular to each other |,
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' ‘4 R R 4% 4 ALY ;"“"

b g L AR SR IR

o O 5

e 0 . " L it

136. .
R E

137.

138.

- 139.

(1) I ¥ et

(2) W% R

3) TR F IR

(4) AT fawe & &

o fveror # s fafyr &R0 @ e

(1) 998 A H X

(2) 9= | fafire =t &k

(3) T | A & A

(4) T |/ T 6 3T

8t s wt & g ° () v
TR AT BT & | (i) T T shem
INETS B & 1 (i) F S A T
Tt & ehen fawdie famol it & | @

(1) (i) =A@ T |

(2) (iii) T ¥ |

(3) (@), (i) T (i) e T & |

(4) (i) 39 &, W (ii) T (i) T & |
IS qHETg BRI T 8T ‘a” T T
ﬁé‘b’é,aab;%
W 3 ® F
3) 3 @ 3

T Tt ¥ 10 29 € | 3R vdw
TN ¥ Fae TF IR e foermn & ar

T fre # $ol e §
(1) 105 (2)+55
(3) 45 4) T 9 ®iE &

. Tl@‘q m Eal T 2005 % 22) 135

136.

137.

138.

139.

(1) 105

. UPRI
. National Curriculum Framework 2015115

the sequence of Mathematjcg is
(1) Before language

(2) After language

(3) After Science

(4) After Social Science

Inductive  method of teaching
Mathematics we proceed from

(1) Abstract to Concrete
(2) General to Specific
(3) Known to Unknown
(4) Unknown to Known

In a pair of adjacent angles (i) Vertex
is always common, (ii) one arm is
always common and (iii) uncommon
arms are always opposite rays. Then
(1) (1i1) is false.

(2) (iii) is false. :

(3) All (i), (ii) and (iii) are true.

(4) (i) 1is false, but (ii) and (iii) are true, -

If area of an equilateral triangle is ‘a’
: b2,
having height ‘b’, then PR

1
M 3 ® 5
3) 3 @) 3

There are 10 persons in a party. If-
each one of them shakes hand with
others exactly once. The total
number of handshakes is

(2) 55

(3) 45 (4) None of these

% %14 & 1T 57 / SPACE FOR ROUGH WORK
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141,

142

143.

144.

T HIST 30 Hex ot vt g o @
ﬁm%lt?;q'aﬁsr ﬁﬂ%‘?‘(g@

(1) 554 (2) 5.5
(3) 155, @) 25,

U i AT Ig oot &t e e
% WRIHR A o € | I a

AT & o S e 3 g

quwzjl-% | ¥ A et & & R
A Wt iRt a1 & 2

1 2 v 1
s s BE @ 3

5n+3_6X5n+1
g x 51 —22x 5n

(1) 91 (2) 19 (3) 10 (4) 1

N B——

1
@ 3

1
@ 3

0 |

1
M35 @

e = @ e T 410 § SR €
3t O FamEt @ WA TET W S
¥ ITE R S 15% B A T TR
10% =t & 2t & | 31 foweat 1 6

TA & |
(1) T110,3260 (2) ¥120,3290
(3) ¥180,2230 4 T § Y T

23)

140,

141.

142,

143.

144.

Y

A horse is tethered to a stake by a
Tope of 30 meter long. If the horse
Mmoves along the circumference of a

circle keeping rope tight, find that
how far ‘tﬁe. %orse have gone from
Initial point if the rope has traced an
angle of 105° at the centre ?

(1) 55m 2) 55m
(3) 155m 4) 25m

A man and his wife appear for an
interview for two posts. The
probability of husband’s selection is

. 4.1
% and that of wife’s selection is 5
What is the probability of only one of

‘them will be selected ?

2 2 1
Hmr @7 O%F @ s

5“"’3—6)(5“"'1 )
oxs5n-22xs5n %
(1)' 91 ) 19 3104 1

\[5 .
al t
51 as - ,———-——9_4\Blsequ )

1 1
A3 @Dy

A man buys two books at ¥ 410 and

.sells both at same price. One gives

him a profit of 15% and another a
loss of 10%. The cost price of both
books is |

(1) T110,3260 (2) ¥120,3290
(3) 180,3230 (4) None of these

=

= % f7g e / SPACE FOR ROUGH WORK

Scanned by CamScanner




147. S TFER A H FAH

Y B
145, Freife 3 @ P W HT TR § 9

. 6—)1/2> (%)1;3 o 6)1/2< @_)1/3

o %)1/2 _ %)1/3 é 3:115! s

146. 12 D07 TR FH § G W E |

B3 3 TS V0T 1 W B 14 3R
15 & | T 12 Dieyor @ e e

(1) 29 2) 145

(3) 15 (4) TW @ BT
& Fd
i st fF 15 @ 17 @ TR R
9 7t 2 At Hre AT T B T H WS
AT
(1) 902
(3) 814

(2) 800
(4) T HE T

148. UF T 9, e I S 7 =9 15
foertt /A, &, wmr & faoda 36 feraimier ST

S YT U W A 3 A 5 TS
TG Nl € | O W Fae (3 A
T | 5
(1) 5 i, (2) 10 feid,
(3) T W TR (4) 3 Fe,

149, 3 Wik TS F AT § T | H

T T FIT T I ol
8 3 :

HATISE |

(1) 3,5 2) 6,2

3) 4,4 (4) FTHI T T

150. frt < GEmel # SUE 5 : 6 ¥ 3R

3@ H.C.F. 12 ¥ | =1 9@t =1 LCM
Ny .
(1) 60
(3) 180

(2) 72
4) 360

(24)

149.

150.

145.

146.

147.

148.

‘(3) 180

. UP
Which of the following statement ils‘I

true ?

2 G—JUZ> (%)1/3 e (%)m< @1/3

(3) (%)”2= (5)“3 (4) None of these

Out of. 12 observations arranged in
ascending order, the sixth anq
seventh observations are 14 ang 15
respectively. Find the median of aj
the 12 observations. -

(1) 29 (2) 145

3) 15 (4) None of these
Find the least number of square tiles
required to pave the floor of a room
15 m 17 cm long and 9 m 2 cm
broad. :
(1) 902
(3) 814 (4) None of these
A motor boat whose speed is
15 km/hr in still water goes 36 km
upstream and comes back to the
starting point in 5 hours. Find the
speed of the stream.

(1) 5km/hr

(2) 10 km/hr

(3) Can’t determine

(4) 3 km/hr

The sum of two natural numbers is 8.
Determine the numbers if the sum of

(2) 800

8
their reciprocals is 15
(1) 3,5 (2 6,2
3) 4,4 (4) None of these

The ratio of two numbers is 5 : 6 and
their HCF is 12. Their LCM is

(1) 60 2) 72

(4) 360
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